Ratio to Pythia 6.428 370

7000 GeV PP Top (parton level)

— | I I I | I I I I | 9
3 S
10 & M (ttbar) 13
= 3=
—  —A— Pythia 6.428 370 3
1 = - H- Pythia 6.428 391 N
= Pythiglo-428teteul, ==
107 & —4— Pythia 8.308 defaul _E;
= i =R
L / .2
1072 & i SiTyn _ .
- ! w
107 = _I = _
— /4 — ©
— ‘ — ™M
-4 B ’, 1 (Srr)
— /3 HO
— L 949
- B N ieal 1 S
107 & xfi g
5&4% =K
BREE —c
107 ET], =
= =
| | . 8
10_7 EE I — 'S
=1 ==
= 30
S Y Y O i
2 B 2
i -
1 ,_._| |';|:‘l\:\|I7IJ-|'Y Pﬁzm _J"
B ',r‘1_¢ ]
T
it .
L0 _
s *
0.5 i —0.5
I
il

I L I | I I I | I I I | I I I |
200 400 600 800 1000



	Contents
	Page 1


